Conic Section: Parabola - Class XI

Past Year JEE Questions

Questions

Quetion: 01
The centre of the circle passing through the point (0, 1) and touching the parabola
y = x2 at the point (2,4)is:

Solutions

Solution: 01

Explanation
Circle passes through A(0, 1) and B(2, 4).

y =X
=> %B =4

tangent at (2,4) is
(y-4)=4(x-2)

4x-y-4=0

Equation of circle

(x - 2)2 + (y-4)% + A(dx-y - 4) = 0
Passing through (0,1)
L4+9+4(-5)=0
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. Circle is

x2-Ax+4+y2 -8y + 16+ S[ax-y-4]=0

$x2+y2+(-55_2—4)x-(8+-15_5)y+20-952=0

$X2+y2+¥x—-55§y+%-8=0
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